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Which of the following is the correct contracted form of ‘I will’?

() 111 () I (3) 01 (¥) il
He is neither sincere ... ... hard working.
(%) no - () not - (3) nor (¥) never
THe vsans of the flowers filled the room. :
(%) sent (R) cent (3) scent - (¥) saint
‘Rahulis good ...... drawing’. Choose the right preposition and fill in the blank.
(%) for (3) with - (3) at : (¥) on
...... reservation alone will not improve the lot of women, it will certainly help.
(%) Though - (R) But (3) Neither (¥) And

??ﬁaﬁa?on@gﬁa&mmﬂﬁﬁ‘amcwﬁmﬁmm?'
(8) & () () 2 (¥) 2¥ ‘

T YLARTST USAS TS, m&s‘mﬁvﬁtzz% ﬁs@mmm
ISEHRIINSGT HUTS Tgeeh, A YEaer ~ATA@T H1d qTe ?

(%) recehIw *) ﬁ‘-ﬂ?ﬂ (3) =T (¥) st T,
e 7 WO A Sfewr. -
(2) 93 () e (3) F== - (¥) affaRrR
WY 3% X &% = §&3%
| ¥3 X ¥0 = 3I¥¥0
&R X €3 = 3¢E3
W T AATTEAR 9 X %% =7 _
(2) 438¢ (]) WR2% - (3) 3R (¥) 8¢y

2.3 X 2.3 + 0.6 X 0.£ + ¥ X 0.¢ _ .
(2) R () ¥ () 2 | (¥) 2%
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Most of us are happy to talk about health....., very few go for it.

Join the sentence with conjunction given below:

(2) and () because (3) or (¥) but
What is the tense of the following sentence? He ran fast to catch the bus.
(%) past perfect tense (R) past continuous tense

(3) simple past tense _ (%) simple present tense

Fill in the blank with the correct word. A friend in need is a friend ......

' (2) really () inneed (3) indeed - (¥) in deed

Which of the following sentence has been written in past perfect continuous tense?
() It was raining when 1 went to his house.

(?) It had been raining when I wentto his h(mse
(3) It had rained when to his house.

(¥) It rained when I went to his house.

Though the summer is not, the farmers continue their work.
The underlined clause is an adverb clause of ...... _
(2) result (R) purpose (3) condition - (¥) contrast

SR BAD 71 Wisg Wishies WA 5-4-7 sran fofen, mNATIONmmmﬁﬁ
Hihaeh TIIa HIoTan ?

(2) 17-4-23-12-19-17 () 17-4-22-11-18-17
(3) 17-4-23-12-18-17 : (%) 174 22—12—18 17
Araaean mwﬁﬁﬁﬁm}mﬁam?
(2) 20 () R
(3) (¥) 2o

TRY TSRS IS WET IWT FIAT, @TEdT IEA Aot I R gt @ de
HIZHIATA STATHS TSST, ATAT O TATEAT HIVAT AGHT TR 7

(%) s (R) /= : (3) =mTr=AT (¥) T
mmmﬁﬁwawaﬁmmﬁwm@maﬁ
JehTell ST gETerteht Hiore ?

(2) wy (R) ¥3 . {3) ¥R (¥) ¥&

2.91.3.9. ToRdl a0 2400 FUITH 3 auid $¢80 ©. TH & ?
(2) ¢% () 3% (3) 20% (¥) &%



T8 . did they see the tiger ...... they ran away.

(%) Hardly, when () No sooner, than
(3) like, better than (¥) Not only, but also
.2  Write ol;posite word of ‘substantial’.
' (%) imaginary (?) unsuitable (3) insufficient (¥) sublime
. 0 God help you. 5 | -
(2) The (R) A (3) An (¥) NoArticle

W.?¥  The function will take place ...... 8.00 am ...... 10.00 pm.
' - Choose the most ap_propriate pair of prepositions.

: (%) from, and (?) since, to (3) till. and (¥) between, and
T.?4  God helps ...... who ...... .themselves. ;
(%) they, help (R) him, help (3) those, help (%) those, helps
U.3§.  ueR3e HfEm = ... T, '
(%) wuc.?30 (R) W4.L330 (3) wuc¢R.30 " (¥) ©.433

U.R%. TETE T SHU UH Sal.
(2) fa. = wiga () fa. a1 fmEew (3) 3. @. g (%) T R
W.3¢. A gt Fae vemm ; siEw 17 : SWEw ‘
. - (%) 9 (R) = (3) e (¥) Feargs
T.3%. UH ME wo EA. udt e S aEw e, aﬁ‘qaiaﬁﬂaramﬁ?rfﬁﬁhnﬂ'wﬂ
- e, T AT i g
(%) guo0 X () R000 HiE (3) 2400 rex (¥) 3000 HX

9.30.

(1) a1, Staet, gou (2) ¥, oM, €%

(2) o, rcEd, i (%) M, e, EEr
9.3%. aﬁﬁsn‘ﬁticn.umnﬁnimgn'gzﬁii!

(v) sfowRnedt () e (3) T (¥) o9
¥.33. Fedwm wewemran o wvifaumn g wata feen - q@ oo

(2) |WaRE™ - (R) T TR (3) T S (¥) srevet H
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(1) T@Ts (R) arw (2) @ . (¥) g
U.3%¥. Wieleda g g et
(R) 95 9§ = 9 u& (R) TEEl = Gelt B9 @A Tft

(3) TRIET = WIS g (¥) gt = ot &= o
.34, WIASIR HawEl wrorar?

%L AR SR o B
.36, T FRAT shudeaT SNOTETE WRATHS TRUNE S g e, S,

(%) AT HTERIRE STV W it ureiva e,
(R) s Ader oa Higw %O ..
(3) wrdra wre ffeo wrenht wal s wrwer T@.
alteudt o fam s sg?
- (2) A, Banfor C (3) B 3mfr C (3) A st B (¥) B C
.36, ITEHE HHATEER TH HREI Gay IqvaTa Sivl S8 Grae ¢
: (R) B FH  (R) IIS THA (3) @€ (¥) T . gu

:r.a?. TEIETE wea e smeen feg womar? |
(%) TT@= - (R) 3™ (3) s (¥) et gag

W.3%. ITEHSAH = AT HgHe FrATAVET O ... Y Sl ? _
(%) 3.9 2838 (R) 3.9. R0 (3) 3.9. quR0 (¥) 3.9. 203 -
W.¥0. WSt wien sifrera wer gw frevamet wEwg weEw L AT
AT WOt WA Tg ? -
(%)maﬁmﬂa(?)mm_ (3) TWe™ Fe@t  (¥) A1 Ul HEER
WY, HHEEITA’ T Weq AT WINTHYA TR Sl e
() Tt + wrefl () BRE + wREr  (3) wRE o+ WS (¥) WS + w0

¥, WM WR w0 e g

(2) w1 (R) s (3) W (¥) it

U.¥3. 3ITHE fhamae dEee a1 Ao, _
(%) M@ R RS, (R) waft T weRel,
(3) TEE UR e : (¥) R e wifrae.
Wy, o wd get o WOt ome? o g
(%) o1y adnRTES C(R) w1 A

- (3) oot TR (¥) Tl YaEes
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(2) Fraerestes s R) gfaesis RATaRoT
(3) Teufoess franfagmo : (x)mmﬁﬁm -
g R Rregma twurEest ... JY urgraETE foresar.

(2) @t wreelt () TR (3) s ) TR

AT TS ... T 3. : - :

(2) &I, 9. 9dt® (R) o= wd (3) T . f&® (¥) T uidis
T T VIeE WIS Syt weftm g ? :

(2) B9 fF=alie aee 3

(R)- IRVl YiTeisee il fearenasn aEe 9.

- (3) Fiwu FEEdS 9B

(¥) Hrwudics war 4. _
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wUZES ?

(2) @ ®. B () w. e (3)W.aaﬁ.aa§s(x)mﬁﬁmﬁ
WRA WIAUEREAT R (L) 31 FoHT™ WTHTGdh! ST Sa=ar=an Eeea

. HHTEY ATE?

(%) Wm0 § APt &

(R) T . e
(3) WRAT=N TSISAT §a9 Jaaqul HaR E&ri.
(¥) formerer 9 widds s qoaur §eR &,

o ST o I ard ot i ... S

(2) HreaE () Rrrda (3) @ (¥) smTéa
ﬁ@mwmm IT wgofter aved wom. '

() BIpEarsTrEn g FEEH.

(R) FoEET qrE1 IWH STEMEL.

(3) ¥R 94 T, T T Gon g® Ugdar.
(¥) ST AOTETAT ATE AT BRI
‘st wu Wt Neeet.” o area &g« ?
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n.uy. REgd v fom - wen

(2) T () R - (3) R (¥) TR
T.uE. TEOEE SO R setsraie TRwnE TR i ?

(A) anffss =rm feme (B) b Twam

(C) T warg FwmATe (D) UEhR fAauehRe g

e gatarddhr ara gata fast . ‘

()AsfrB  (R)ABIID (3)B,CarD (%) sl @&
.4, . WA Ak HEA FHMT TAT FF Tt A &7 I FT TEUETA ?

(8) s (R) =amEE (3) W (¥) sifrrd waea
Y.ue. AW ST TSEE ¥ WO AT gURRE oA ? -

(2) =t 37 () SreTyd (3) PR e (%) B Tivd
T.48. ‘mﬁﬁamqmgémﬂﬁmmﬁmmm?

(2) s () uiferg (3) B (%) S

T.60. WRAM ...... T Taw waer @9’ g W et St
(2) R SMEd (R) 4 FHER (3) 2¢ SHa (%) 38 SHETd

w.5¢. wwrneff ey famer - wedw

() = () 7@ (3) s (¥) Ig
.83, HI® TRee @eal WA SET.

(3) wpoft (R) TR wafl  (3) S HAd  (¥) 9@
T.§3. ‘WO T IEE BT WSHTET ATE ?

(3) framg (k) Frafememr  (3) @w (¥) egenfe
.8%. . Yo reETeT THR AT — USH, g .

T.8u. @t wEar - wiyg '
o wm+RE v+ (3) wg + fig (¥)"wg + Ry
.88, fagews geats @yl 203y o A HIOf FS g ?
() sfsr® (R) &= (3) smifear (¥) nfes
.5e. YR ufRerare ... AeY W T SR

(%) rsmeff (R) Feprareft (3) gt . - (y) Taownef

.54, WTETGAhT HIOTAT ST & 3R 7
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.04,

.88,
.98,

T.el.

ST et

H q
(2) Fasmren _ (31) amTE
() gEwE (=) gaieft geomsft
(3) gdur : (=) sy Rrosgore
(%) qag srmaEn (3) FT@wE AT
(2) &%, -9, 3§, Y- () £-31, 3-F, 39, Y-8
(3) -4, 3-8, 3-%, ¥-& (¥) 1-3,3-31-3-9, Y-
wreh fraEuE s i we wE A :
(2) WER AT TR HT. () SHeaR ATHiHA H,
(3) SRR B . -~ (¥) Faes o
Vg viegrn ana o e % |
(@) L (R) FhE (3) ST (¥) forenfd
“oft Ta: e wiige” A1 A eI Vo2 WIS ST SR o ?
(2) sffEd () somEEE (3) dEA (¥) ad
‘Taadl’ ar eI WHIN SIS,
(2) fen () FHur (3) wegew () wggirat

o ww ¥ ey afe’ mmamﬁa%mmm

FSqATAT TR T,

3) = IgmmarEt - (3) GnfaaEs
(3) B IPEEHE (¥) I T
ST TEUN e
(2) amﬁtﬂ@w_ (R) T
(3) TS S : (¥) sk wd . '
(2) D.NA. (?) RNA. (3) Cry-1 . (¥) Norain_
DOTS ¥ JU9R Huredn Fomardt Jme?
(2) it (R) TH (3) wofefem (¥) &

@i Tata wer s fiw (Carbon sink) WYvwET MR ?
(r) = () mEETR (2) g fam (¥) Fh
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AR

T.¢R.

q.43.

T.£%

T.L4

T.L%

EIED IR

L o
(R) 3R (31) sfivragy
() 9R (%) wrome
(3) ®r| (%) wEEm
(¥) vt (=) TETH
(?) -, -9, 3-8, ¥-H (R) 2-3, -, 3-9, ¥-3A
(3) 29, 3=, 3-8, ¥-3 (¥) 3-3, -, 3-8, ¥-9

i arfior e it (NRHM) siaeta amenm (ASHA) wuﬁf&mm
WTAGUhT B T SO A8 ?

(31) TG T WIAHAT ARTEEET R WgRa S,

(@) Twivgurrear wravitardt St fme gl

(%) diww ER @ wHleuTETEd HifRd g,

(=) st =t (Conducting Delivery).

(2) HFIH RIII=H 3)FAaxHd '_(x) AITF

200 UG %00 T G T 3ieh WA THAT IWUITAT HeA Fowet 2

Ry 8- - (3% (2) %% (¥) ¢x
4.7 ,103 |

"3 712 7 1596

® % R OF () =

ﬁ?ﬂqmaﬁuﬁﬁmwaomﬁmm a@vﬁmmmm
g, ® FAd=n 5= e T Teet e ?

- (8) TEaR (?) "mER (3) wFER (¥) Tham

India has tried its best to put a Government in place that seemed to be ......
best alternative available.

(2)a (R) an £ (3) the (¥) none
Tt made fans frantic for the start ...... football action.

(%) of (R) off (i . (¥) on
Well ...... don't respect creativity...... it will flow out of the country.

&) i (2) 4 (%) 3! e ¢ B
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.R¢

Usu élly wetry...... away frorﬁ it.-

(%) torun . (R) running . (3) run (¥) runned

Which of the following pairs has similar meaning?

(?) difficult-hard  (R) week-weak (3) serious-veryill ~ (¥) rude-polite

1§ WiET® I ¥c0 W AR, ¥ Wiw FAW AU AW, W A=A o

et @iaTdte oax TRt ?

(%) 2R0 . () 2R¢ . (3) two . (¥) I .
TUTH R ATIEATIE HeaTRTa! §. 34 aTaada fdie wret ara seet e St
Pt _ . :

(2) ¥ et () & 5@ (3) 3 J= () s

TaHT Wishides WA 573 =T 379 bring cold water 3197 gial; 342 <1 319t water is
good 31@T grat & bright good boy T W&t 126 €T Heha ATIATA, W boy is

bright GTdt WIHI@Uh! HIVTA Wehd AdTS ?

(R) 671 (R) 574 (3) 641 (¥) 673

AEIM : OSWA: : CGKO :? "

(2) QUYC (R) VQCY (3) YWOS (¥) BCEM

‘o wft ‘@ et e, g e gaeh gol sm’, W e & @’ <t mme
(2) @msh () =3 (3) goft () =&

Write the opposite of the word boring.

(2) dull (?) bright (3) interesting (¥) lazy

What is the official counting of a country's population called?

(%) counting (?) election (3) budget (%) census

Plural form of witness is.

(%) witnesses () witness (3) witnesss © (¥) witneses

A large number of villagers prefer to marry ...... girls when they turn 18 instead
of letting them continue their studies.

(%) of - At (3) about (¥) off

- He worked with single-minded devotion. Find out adjective in the sentence.
(2) single () minded (3) single-minded ~ (¥) none



waufye TuE - 33 (Seh ufen IavgEl) swEwETR

2 (2) 2 (3)
22 (%) 2R (3)
2 (R) R (3)
32 (%) 32 (%)
%2 () ¥R (3)
ug (3) 42 (¥)
&2 (3) &2 ()
e (?) 2 (?)
c? (?) ¢ (3)
?2 (3) %2 (2)

3() ¥(3) «(®) 8 (R) 9v(®) <@ (V%0 ()
23 (3) 2% (R) 24 (%) %8 (3) 2o (3) %¢ (®) 2R (3) R0 (%)
23 (%) 2% (%) 3% (¥) |/ (R) R0 (3) 2w (¥) R (R) 30 (¥)
33 (%) 3% (2) 3 (2) 38 (%) 39 (R) 3¢ (R) 3% (R) %o (R)
¥3 (%) ¥¥ () ¥ () ¥& (3) ¥o (¥) ¥¢ (?) ¥2 (?) w0 (R)
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3 (2) o¥ (%) b (3) W& (¥) ©o (¥) ¢ (R) = (R) <0 (3)
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